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QUESTION 1

What does the Performance Schema provide?

A. insight into the internal working of MySQL

B. recommendations for schema changes

C. a text-based version of MySQL Enterprise Monitor
D. auto-tuning based on settings and ongoing workload
Correct Answer: A

Reference: https://dev.mysql.com/doc/refman/8.0/en/performance-schema.html

QUESTION 2

Force Majeure is a catastrophic failure on a major level of the database operation. Regular backups are key to helping
avoid data loss in such situations.

Which two other steps can help avoid data loss in a major catastrophe? (Choose two.)
A. Implement a failover strategy to another geographic location.

B. Create a master-master pair for each service.

C. Have a second data centre in a different region or country.

D. Keep software updated to the latest version.

E. Use RAID 10 storage for data.

F. Use on-site network-attached storage to separate service from data.

Correct Answer: AC

QUESTION 3

Which two statements are true about InnoDB auto-increment locking? (Choose two.)
A. InnoDB never uses table_level locks.

B. InnoDB always protects auto-increment updates with a table-level lock

C. InnoDB does not use locks to enforce auto-increment uniqueness.

D. The auto-increment lock can be a table-level lock.

E. Some settings for innodb_autoinc_lock_mode can help reduce locking.
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Correct Answer: DE

QUESTION 4

Why should you be selective when granting the PROCESS privilege to an account?

A. It allows a client to process scripts.

B. It allows the use of stored routines.

C. It allows a client to see another user\\'s queries with the SHOW PROCESSLIST command.
D. It allows a client to control running processes on a server.

Correct Answer: D

Reference: https://dev.mysqgl.com/doc/refman/8.0/en/privileges-provided.html

QUESTION 5

Which three statements correctly describe MySQL InnoDB Cluster? (Choose three.)

A. The cluster can be operated in multimaster mode with conflict detection for DML statements.
B. All MySQL client programs and connectors can be used for executing queries.

C. It provides fully synchronous replication between the nodes.

D. There is support for automatic failover when one node fails.

E. The data is automatically shared between the nodes.

F. Each query will be executed in parallel across the nodes.

Correct Answer: BDF
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